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If you do not wish be answer a question, pencil actess the “Sen’t know! cell (77 L Cul-cl date:
Iy think that a queston & unseund many way, pencil across the ‘onsoumnd” cell (7L} 3 3 097
i addinion o pencilling across either an answer cell or the “don’ L know' cell. Friduy 26 September

Nide  Far each question, vau must pencil e roes either e reguaived ammber of answer

cells or the ‘g 't know " cell

01 to Q4

These questions concern a cluster of

galaxics with an average recessional speed from Earth
of 3 6 km 51, and another clester, in the =ame hioe of
sight, with an average recessional speed of 4200 kms-1.
Assume the Hubble constant to be 75 km 7' Mpc,
Opticn G in the key ndicates that the speed is direcied
away from the point of observation, and H that it s
directed towards the pomt of observation,
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What is the average redshaft of the pearer clusicr
{1z viewed from Barth)? Select the item that 15 closest o

p{;r your answer from A o Ein'the key, and then select one
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Pencil across two cells n row 1,

%

-'.-
g

02 What 15 the average redshift of the further chosier

: s viewed from the nearer cluzier? Select the item that is

F closest to your answer from A to F in the Key, and then
select one of Goor H. Fal i
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Pencil across rve cells in row 2.

viewed (rom the mearer cluster? Select the item that is

Oé.r(]ﬁ What 15 the average redshift of the Local Group as

closest o your answer from A o Fin the key, and then
select one of Gor H 5
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Pencil across meo cells in mow 3.

4 What iz the distance of the further cluster fromm
Earth? Select the mem from the key that is nearest to
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Pencil aceoss ane cell in row 4.
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5 to OT  These guestions concern the Einslein—de
Sitter modde] of the Uinrverse,

(5 Suppose that the Universe s deseribed by the
Einstein—de Sitler model. Choose one tlem from the key
which bost desenbes this Universe,
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Pencil across onee cell in row 5.



